Algebra 1 Bellwork Thursday, January 8, 2015

golve each system of equations using substitution. Give answers as ordered pairs.

1.
yz-%x” Ta-3b=22
gx + 6y = 42 a+b =34

3. Solve this system of equations by first adding the two equations together.

4m—3n:—23
6m+3n:3

4. Solve this system of equations by first subtracting the two equations.

50—4(1:30
7c—4d:42

5. Solve this system of equations by multiplying the first equation by 2 then adding the equations.

_5x + 6y = 16
10x + 11y = -9



Algebra 1 Bellwork Thursday, January 8, 2015

golve each system of equations using substitution. Give answers as ordered pairs.

. 4 ‘ 2.7a~3b =22 | (/ (L\j Z—> l[‘

= —§x+7 [
8x + 6y = 42 ’ Qa+b =234 —
A b=34-€a H=3Y- _s(4)=34-2
Sx+le (5 +’1) 4y A .y
cx — &% ryr=He ’\0(~5(3L6-v8a;) =12\
,m‘ftl«“:v_ﬁl,«,wm_m“ Q-0 )+ g = 22 .
.ﬂw_@jwfiwﬂam% 2\g — 1027 22 \
o /02— +I0L

2o = M /"7 O‘“:L‘{

3. Solve this system of equations by first addmg the two equa’uons together
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4. Solve this system of equations by f\rst subtractmg the two equations.
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